HUGGER ADAPTABLE TO SUZUKI BANDIT 1250/12508 07-13'/GSX1250F 10'-

Foericy >

REF: 4409 Hi-Tech Parts

INSTRUCTIONS TO ASSEMBLE

1- Dismount the original chainguard.

2- Remove the rear brake line guide. Remove the closer brake guide to the rear axle, and mount it on the interior
part (A) of the supplied hardware (1), using the original screw, the M6 locknut and plastic cap supplied (4). Tight
the hardware (without press) in the swing arm using the M6x15 screw (2) and the M6 washer (3).

3- Place the well nuts into the drills of the rear hugger.

4- Mount the hugger using the M6x15 allen fasteners. On the hardware, use the fasteners jointly with the M6 nuts.

5- Adjust the hugger with the tire through the regulation that the hardware offer and tight the set. Afterwards, pass
the brake line through the interior of the guides.

6- Check periodically and tight the fixations.

7- In case the motorcycle has other accessories, observe that it does not interfere with the hugger.

Material supplied to assemble the hugger:

DESCRIPTION QTY

M6 DIN9021 black washer 1
M6x15 Allen screws 5
DIN1001

M6 lock nuts DIN6923 2
Iron fittings 1
Wellnuts 4
M6 Locknut DIN985 1
Plastic cap for M6 nut 1

Check out a selection of motorcycle frame & body offered in our online store.


https://www.motorcycleid.com/frame-body.html
https://www.motorcycleid.com/puig/



